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(vi)
(vii)

(viii)

Note:

Q.2

Q.3

Q.4

Q.5

Q.6

What is the condition of stack overflow?
What is devide-and-conquer approach in searching?

What is the result of evaluating the given postfix
expression 5,4, 6, +,*, 4,9, 3,/, +, ™.

Section-B
(Short Answer Questions)
[Marks: 4x8=32]

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.

What are the two ways of implementing stack? Which
one is preferred over the other and why?

Define the followings: (i) Graph (ii) Degree of Vertex
(iii) Weight graph (iv) path

Write an algorithm to sort elements by bubble sort
algorithm. What are the time and space complexities?

What is Doubly Linked List? Explain an example of a
gueue implemented using doubly linked list.

What is searching? Give m.a<m:~mmmw and
disadvantages of sequential seach technique.

Define Graph. What are the different ways to represent
a graph in computer memory? Explain.

5

Q.8
Q.9

Note:

Q.10

Q.1

Q.12

Q.13

Describe recursive method of Tower of Hanoi.

Discuss the complexity analysis of Insertion Sort with
example.

Section-C
(Long Answer Question)
[Marks: 2x16=32]

Answer any two questions. You have to delimit you
each answer maximum upto 500 words. Each question
carries 16 marks.

What is the importance of Circular Linked List? Explain
the process of inserting a new node at 3" position in
circular link list.

Explain Breadth First Seach (BFS) and depth first
seach (DFS) with suitable example.

What do you understand by Asymptotic Notations?
What is the difference between time complexity and
space complexity? Explain omega notation, compare
it with the other popular notations.

Explain the worst case complexity in Quick Sort. Show
all the passes using Quick sort technique with the
following list: 1, 2, 3, 4, 5, 6.
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